Name

10)

11)

12)

13)

)

AI(OH)s + ___ NaOH=___ NaAIO, + ___ H,0

SO, +__ H,0>__ H,80,

HA802 - - A8203 + - HQO

C+__ H0=__ CO+__ H,

NOHCOS d - N02C03 + - C02 + HQO

Fe+_ Hgoﬁ_ FeSOL}+_ H2
Be(OH), > BeO+___ H0
FGQ(SOL})3+_ KOHe_ K2804+_ Fe(OH)S

Al+_ NHyCIO = ALOs+__ ACL,*+__ NO+__ H,0

BG(OH)2+_ NHL}HFQ%_ (NHQ)ZBQFQ+_ HQO

BGSOL} a I NHL}OH - I Be(OH)2 + I (NHQ)QSOQ

CO:B(POL})Q + - HQSOQ - - COSOQ + - CO(HQPOL})2

Bi(NO,)s +_ H.S—=>__ Bi,S,+__ HNO,

NOC| +_ HQSOL}%_ NOZSOL}"—_ HCl
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Answer Sheet

1) 1 AI(OH)5 + 1 NoOH > 1 NoAlO, + 2 H,0

2)  1.S0;+_1 H,0~>_1 H,S0,

3) 2 HAsO,~> 1 As,0,+ 1 H,0

9 1 C+ 1 H0~>1CO+_1 H,

O) 2 NaHCO; = 1 Na,CO;+ 1 CO,+ _1 H,0

6) 3 Fe+ 4 H,0~>_1 Fes0s+ 4 H,

7)1 Be(OH),>_1 BeO+_1 H,0

8) 1 Fey(SOu)3+ 6 KOH—_3 K,S0,+ 2 Fe(OH),

9) 3 Al+3 NHCIO, = L1 AlLO,+ 1 ACl,+ 3 NO+_6 H,0

]O) L BG(OH)Q + L NHQHFQ 9L (NHQ)QBGFQ a L HQO

IT) 1 BeSO4+ 2 NH,OH = _1 Be(OH), + 1 (NH4),S04

]2) L CO3(POQ)2 + l HQSOQ d i COSOQ + L CO(HQPOL})2

13) 2 Bi(NO3); + 3 H,S—=>_1 Bi,Sy+_6 HNO,

%) 2 NaCl+ 1 H,S0.~ _1 Na,SO, + 2 HCI
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